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Question 1 (1 mark)

What type of a relation is shown?

A. Many-to-many
B. One-to-many
C. One-to-one
D. Many-to-one
Question 2 (1 mark)

The graph shows the velocity of a particle, v metres per second, as a function of time, ¢

seconds.

When is the acceleration of the particle equal to zero?

A t=0
B.t=10
C.t=6
D. t=8



Question 3 (1 mark)
2 1
For events A and B, P(A|B) = R and P(BJA) = 3 Let P(ANB) = p.
What is the vaule of P(A)?

A. 3p
B.
C.

=

D.

[N USRS
=

Question 4 (1 mark)
(v/3 — 1)(2V/3 + 5) simplifies to:
A 11+7V3
B. 11433
C. 1+3V3
D. 1-3V3
Question 5 (1 mark)
What are the values of = for which |4z — 3| = 7.

1
A. x:2§aHd$:—1
1
B. x:2§and$:1
1
C. x:—2§andx:—1
1
D. :L‘:—2§and:1:=1

Question 6 (1 mark)
The population N of a town, after t years, is given by the formula N = Nye%%% where
Ny is the initial population. Which expression represents the number of years it takes

until the town has doubled its population?
21log.100
5

A.

B. 4log.2

C. 210g.25

D. 25l0g.2



Question 7 (1 mark)
[ tan*z dx =

A. sec’z +c
B. 2tanz+c
C.tanx—zx+c
D. 2tanx —z + ¢
Question 8 (1 mark)
Let M be the mid point of (—1,4) and (5,8). Then, the equation of line through M
with gradient _71 is:
A z4+2y—10=0
B.z+2y—14=0
C.20+y—10=0
D. 2z2—y—14=0
Question 9 (1 mark)

d
Given the function y = eV®, which expression is equal to d—y?
T

A. eV®
Ve
B.ex
o
2\
D. evr
\/5



Question 10 (1 mark)
A company collected data on the reasons for given by 200 factory workers for arriving

late. The pareto chart shows the data collected.

Reasons for Lateness given by Factory Workers

90

80

70

Cumulative %

Number of Employees

60

50

40

30

20

= =l .

Queue at Traffic Train Bus Car Overslept  lllness Family Bad Other
Security Congestion late/missed late/missed Problem Problem  Weather
Gate Reason

What percentage of workers gave the reason ”Traffic congestion”?
A. 60%
B. 75%
C. 50%
D. 30%
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Question 11 (2 marks)
Find the equation of the tangent to the curve y = \/z at z = 9.

Question 12 (3 marks)
The diagram shows a triangle with sides of length 9¢m, xcm and 7em and the angle of
47°.

X em NOT TO
gcm
SCALE
et
HH""‘-h-._
7 cm “"“*m‘f_z_x

Use the cosine rule to calculate the value of x, correct to two significant figures.



Question 13 (2 marks)
A certain poker machine with 3 wheels has 10 fruit symbols on each wheel. The first
wheel has 4 cherries on it, the second has 2 cherries on it and the third wheel has 5

cherries on it. Find

(a) the number of arrangements which contain 3 cherries. [1 mark]

Question 14 (6 marks)
A function is given by f(z) = 23 — 322 + 3u.

(a) Find the stationary points and detemine their nature. [4 marks]



(b) Sketch the curve, labelling the stationary points and axes intercepts. [2 marks]

Question 15 (4 marks)
A mixture is to be made of two foods A and B. The two foods A, B contain nutrients

P and Q) as shown below:

Ounces per pound of nutrient

Food | P | Q
A 1] 2
B 3|11

The mixture contains 8 ounces of P and 6 ounces of Q.

For example: one part of A and 3 parts of B will make 8 ounces of P i.e.., A+3B =8

(a) Use the similar method to form an equation for nutrient Q. [1 mark]



Question 16 (2 marks)

cos 2x

Differentiate y = e

Question 17 (2 marks)
Given the function f(x) = 22 + 2z and g(z) = z + 1.
Find £(g(x)).

Question 18 (4 marks)

The diagram shows a sector with radius r and angle § where 0 < 6 < 27. The arc length
107

is —.

3

(a) Find the value of # and hence, show that » > —. [2 marks]



(b) Calculate the area of the sector when r = 4. [2 marks]

Question 19 (3 marks)
A discrete random variable X has the probability distribution table shown.

O Ny
[\

SIEERN
1= W

10



(c) What is P(X < p)? [1 mark]

Question 20 (2 marks)
The function f(z) = sin?(2x + 1) is given. If f/(z) = m cos(2x + 1) sin(2z + 1). Find
the value of m.

Question 21 (2 marks)
A circle is given by the equation z? +y? — 6z + 2y = 6.Find the centre and radius of the
circle.

11



Question 22 (2 marks)
Given f(x) = x? — 6z + 8 Differentiate f(z) using first principles. [2 marks]

Question 23 (2 marks)
The gradient function of a curve y = f(z) is given by f’(x) = 42 — 5. The curve passes
through the point (2, 3).

Find the equation of the curve.

12



Question 24 (2 marks)
The graph of a function f(z) is shown.

Ay
nT
w2 »
\\H_H_ )
== : ———————— ]
B - 2 5

Question 25 (3 marks)

(a) Sketch the graph of y = |x — 1| and y = 22 + 4 for —4 < z < 4 on the grid given

below.

(b) Using the sketch from part a, solve |z — 1| =2z + 4

13



Question 26 (4 marks)
(a) Differentiate y = xe3*. [2 marks]

(b) Hence find the exact value of  [2 marks]

2
/ e (3 + 9z)dx
0

Question 27 (2 marks)

The function f(z) = |z| is transformed and the equation of the new function is of the

form y = kf(z + b) + ¢, where k, b and ¢ are constants. The graph of the new function
is shown.

14



Question 28 (4 marks)

Decaln walks 1600 metres due north along a road from point A to point B.

The point is due east of a hill XY, where X is the top of the hill.

The point Y is directly below point X and is on the same horizontal plane as the road.
Let the height of the hill above point Y be h metres.

From point A, the angle of elevation to the top of the hill is 16°.

From point B, the angle of elevation to the top of the hill is 12°.

(a) Show that BY = h cot 12°. [1 mark]

15



Question 29 (5 marks)
Let y = f(z) be a function defined for 0 < z < 6, with f(0) = 0.
The diagram shows the graph of the derivative of f(z), y = f'(x).

‘ ‘
T T
4 6 X
. d

The shaded region A; has area 4 square units. The shaded region As has area 4 square

units.

(a) For what values of z is f(z) increasing? [1 mark]

16



(d) Draw a graph of y = f(x) for 0 < x < 6. [2 marks]

17



Question 30 (3 marks)

The length of a whale species is modelled using the equation

L=52—4.6e %

where L is in meters and ¢ is the age in years and k is a positive constant.

(a) What is the length of the whale at birth? [1 mark]

(b) If a three year old whale has a length of 4.45 metres, what is the value of k, correct

to 2 decimal places?[1 mark]

18



Question 31 (2 marks)
Let f(z) = 2° — 322 + kx + 8, where k is a constant. Find the values of k for which f(x)

is an increasing function.

Question 32 (2 marks)

1
Find integers a and b such that = a+ bV/b.
s V5 —2

19



Question 33 (4 marks)
A wire of length 28 m is to be cut into two pieces. One of the piece is to be made into
a square and the other into a circle. Let r be the radius of the circle and x meters be
the length of each side of the square. The combined perimeter is given as 27r + 4z = 28

and the combined area, A, is given by:

™

14-22\> ,
A= + 2° (DO NOT prove this)

What should be the lengths of each piece so that the combined area of the circle and

the square is minimum?

20



Question 34 (3 marks)
Initially a car is at rest. The car then starts from a point P at time ¢ = 0 seconds and
comes to a stop at point (). The distance x, in metres covered by the car, in ¢ seconds

t
is given by z = t? <2 — 3>. Find
(a) the time taken by it to reach Q. [2 marks]

21



Question 35 (5 marks)
The diagram shows the curve with equation y = 2 — 72 + 10. The curve intersects the
r—axis at points A and B. The point C on the curve has the same y—coordinate as the

y—intercept of the curve.

22



(c) Evalute [1 mark]

2
/ (2* — Tz + 10)dx
0

23



Question 36 (5 marks)

(a) A simple musical instrument has many strings. The difference between the lengths
of adjacent strings is constant, so that the lengths of the strings are the terms of an
arithmetics series. The shortest string is 30 ¢cm long and the longest string is 48 cm.

The sum of the lengths of all the strings is 1209 cm.

i. Find the number of strings.[2 marks]

(b) There is a large sheet of paper which is 0.1 mm thick that is cut in half. Then one
piece is placed on top of the other. This pile is again cut in half and one pile is
placed on top of the other. This process is repeated 40 times. How high is the pile
of the sheets? [2 marks]

24



Question 37 (4 marks)

(a) The function f(z) = sin x is transformed to g(z) = 3sin 2z.
Describe in words how both the amplitude and period change in this transformation.
[2 marks]

(b) Sketch

25



Question 38 (6 marks)

(a) Use trapeziodal rule with three function values to find an approximation to

3
/ Inxdr
1

[3 marks]

(b) State whether the approximation found in the previous part is greater than or lesser
than exact value of ff’ In x dz. Justify your answer by sketching the curve y = Inx
[3 marks]

End of exam

26
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Question 1 (1 mark)

What type of a relation is shown?

. Many-to-many

One-to-many

Q w p

One-to-one
D. Many-to-one
Question 2 (1 mark)

The graph shows the velocity of a particle, v metres per second, as a function of time, ¢

seconds.

When is the acceleration of the particle equal to zero?

A t=0
B.t=10
Cit=8
D.t=8



Question 3 (1 mark)
1
For events A and B, P(A|B) = % and P(B|A) = 3 Let P(ANB) = p.
What is the vaule of P(A)?

Ao pala) = PN P

L p(Bla)s plen®)

5" pp) -
2 N [b O ts pLA)= 8P

D P 3 " ph)

Question 4 (1 mark)
(v3 —1)(2v/3 + 5) simplifies to:
A 11473 V3 (23 +5) - I(2V3 +5)
1+3y3 =C6+5V8 —2Y3-5

B.
C.1+43v3 . (433
D.1-3v3

Question 5 (1 mark)
What are the values of z for which |4z — 3| = 7.

1
A.$=2§and$=—l j_l_qw&::f-

| o s
B.sz%and:tzl A= o5 1= =
C. xz—?% and z = -1
1
D. 3::—2§ and z =1
Question 6 (1 mark)
The population N of a town, after ¢ years, is given by the formula N = Nye®%4 where

Ny is the initial population. Which expression represents the number of years it takes
until the town has doubled its population?

2 109100 . 004t
0-oht
= N.¢
B. 4log.2 ‘Q'\IG 0
1= b2
C. 210g.25
7 004
£ 2
D. 25 l0g,2 t= 25 log



Question 7 (1 mark)

2 = ¥ ! %

J o dr j—{—a.nfx da = J(\QCL'A--') d
A. sec’z +c¢
B. 2tanz +c = ,,—[g_nm—-?[ T C

C.tanz—z+c¢

D. 2tanxz—z+c

Question 8 (1 mark)
Let M be the mid point of (—1,4) and (5,8). Then, the equation of line through M

with gradient %1 is: M (2 | 1 )
A z+2—10=0 g 3 112_[,#;_)
B.z+2y—14=0
C.224+y—10=0 “~lze=1 T
D.2c—y—14=0 n+24Y -4 =0
Question 9 (1 mark)
Given the function y = eV, which expression is equal to j—i?

A eV®

\/E

B ez

eﬁ
2V@
oVE
Jz




Question 10 (1 mark)
A company collected data on the reasons for given by 200 factory workers for arriving
late. The pareto chart shows the data collected.

Reasons for Lateness given by Factory Workers

=
Cumulative %

Number of Employees

Queszat  Trffic Train Huos Caz Overslept  Hiness Family Had Ornher
Security Congestion late'missed Iate'missed  Problem Problem  Weather
Cater Renson

What percentage of workers gave the reason " Traffic congestion”?

A. 60% Todal = 200 T"»(a,b/ﬁ-—ici 60

B. 75%
C. 50% = boX10D
D. 30% 200

= 307 -



Question 11 (2 marks)
Find the equation of the tangent to the curve y = /z at x = 9.

= T e b
7% 017 IR
Gradient %WW il

)
m gl —_—

aF ¢

gquatin of Jhe engel (9, %)
y-3 = (-9 } N1—6y +9=0

by -18=2-9

Question 12 (3 marks)

The diagram shows a triangle with sides of length 9em. zem and 7em and the angle of
47°.

X
- NOT TO
SCALE

47*

w____“

Use the cosine rule to calculate the value of z, correct to two significant figures.

lm: G[nrf'fl-— 2 xax71 cet 4+°

1= b-6 Cm -




Question 13 (2 marks)

A certain poker machine with 3 wheels has 10 fruit symbols on each wheel. The first

wheel has 4 cherries on it, the second has 2 cherries on it and the third wheel has 5
cherries on it. Find

(a) the number of arrangements which contain 3 cherries. [1 mark]

shx2x 5= 40

(b) the probability of obtaining 3 cherries on the viewing line. [1 mark]

40 4,2 55
metmst | B éJD d 10 o
|ob D

Question 14 (6 marks)
A function is given by f(x) = 23 — 322 + 3z.

(a) Find the stationary points and detemine their nature. [4 marks]

4(n)= x3-zat 13 cmuﬂu‘n% Lo ncaviliy
Ha)= 3% ~6a+3 2
_}u(l); Lx -6

o g | Conalty ant
1"(1);0

3 -61+3=0 O, Thee M A Mﬁfmb{
.1‘}, ‘l'l'f'a:'o ;
(a—1)"= 0

x= | at (), )
D efeymad ne the nalure
Cub A=\ W iw)

'J‘“(‘l) o Q)t‘) =( =0




(b) Sketch the curve, labelling the stationary points and axes intercepts. [2 marks]

2

A=(1,1)

-2 -1 0 1 2 3 4

Question 15 (4 marks)
A mixture is to be made of two foods A and B. The two foods A, B contain nutrients

P and @ as shown below:

Ounces per pound of nutrient

Food | P | @
A 112
B 311

The mixture contains 8 ounces of P and 6 ounces of Q.

For example: one part of A and 3 parts of B will make 8 ounces of Pie.., A4 38 =8
(a) Use the similar method to form an equation for nutrient Q. [1 mark]

(b) Solve the two equations simultaneously to find the values of A and B. [3 marks]

A+33=8 —(Dx2 "2h= 4
20+B=( — (2 pe 2
LAz2andB= 2
oOAY LR =16
L_)zﬂ_;rg_: £
5= 10
R

Be &

Cub B:lfﬁ@
28 +2= 4




Question 16 (2 marks)

Differentiate y = e 2®

dH Cot 2

=z ~dS8ngn e

dz

Question 17 (2 marks)

Given the function f(r) = 2 + 2z and g(z) = = + 1.
Find f(g(z)).

-—H.f}('l)) = Fa+1)= (1+!)"+:L(1H)
= A 4L F) A2

= A F4r+3

Question 18 (4 marks)

The diagram shows a sector with radius r and angle 6 where 0 < # < 27. The arc length
. 107
is

3

(a) Find the value of 6 and hence, show that r > —;); [2 marks]

L=78 wheawe 0 <B<c2kK

_ < 5
"-L{_)éf_\,;ve 0 5 =7
6:_@_.:@»_ it Y)/.‘i’-_—
3r 3




(b) Calculate the area of the sector when r = 4. [2 marks]

AY
l - DA
A= = x4 x 12A
2 AxX4
= Lo joR
2 ’19__
- QD‘K__
| 2
= Qok
2

A-L776 whae =108 and v= 4

- Avea of Secli, W %—E(S@\M

Question 19 (3 marks)

A discrete random variable X has the probability distribution table shown.

T 0

2
P(X=z)|p|2|23

(

SN

b= | H W

2

—

(a) Show that p = % 1 mark]

Pr 2 43 +-L 4p=)

5 20 4
ip«%:r
afe
P

(b) Find the mean p.[1 mark]

Ant h l\lc'»\” Pﬁ’-ﬂc

10



e G ) 1 (2) ) () 4(3)

;Q"l}_

(¢c) What is P(X < u)? [1 mark]

PLX<p) = PlX<2%)
- p(x=0) tp(x=1) 4p(x=2)

)l +2 4 3 = 13

g S =

0 5F 20 2.0

—

Question 20 (2 marks)
The function f(x) = sin?(2z + 1) is given. If f'(z) = m cos(2z + 1) sin(2x + 1). Find

the value of m.

Ha) = Cin>(22+1)
()= 4 g (2xh) Sin (2 t1)
Given 1'(1): mees (2a+1) Sin (_l’x—\—\)
Soen st (2 Sin2a+) = 4 0 (21 +1) Sin(2a+)
By L,omPafn‘nﬁ the Pefficienls

m= 4

Question 21 (2 marks)
A circle is given by the equation 22 + y2 — 6z + 2y = 6.Find the centre and radius of the

circle.

Yy - ba +2y=b
Rew witing  and uLing com{)!uﬁfﬁ the Sl uates
X ba 4+ +3°’+>3 +1 = 6ta+t)
2 >
(=3 +yr) =16
L Gne (3,-1) ond vadud = 4

11




Question 22 (2 marks)
Given f(z) = 2% — 6z + 8 Differentiate f(z) using first principles. [2 marks]

4= a*- bnt € - )
qq,”;,): (1+h)t 6(nth) +&8= % anhth —bx-4tht§

—}LXH")#{'(U;:’[d-’w“"‘h*h'}”é/;'éh@g’-}"'_w/{_/g
—}'(’l"i'k')",j-—(m): T L
Oifpsanlialing 7 fixsk panciples

4= im *MU

b h
o) imm 2h™ —f,lwhfL
F h->o L
J) hin(an 6+ h ) = 24
h=>0 T

Question 23 (2 marks)

The gradient function of a curve y = f(z) is given by f'(z) = 4z — 5. The curve passes
through the point (2, 3).

Find the equation of the curve.

f[“);jj'(q)dx a= &1L
A= [n -5 Ydn 4 &8
j’t"‘) = 21’)'-51-r =)

e The iﬁ/‘-"oﬁm of-

HA) = _4__}_’)_-_5'& +C
..

+() = g B4 Ghe Lulae -
Given Hx) portes thmwugh
(243)

b el ] (L)L..g(a_) it

12



Question 24

The graph of a function f(z) is shown.

Use the interval notation, state the domian and range of f(x).

Domain. (@ -1Ju L1 e)

D-\a.nf-&/c'. E"E,:;O) v (o, &

Question 25

(a) Sketch the graph of y = |z — 1| and y = 2z + 4 for —4 < z < 4 on the grid given

below.

(b) Using the sketch from part a, solve |z — 1| = 2z + 4

s plution

Permnt 6'17 intevecchon

x= |

(-1, 2)

13




Question 26 (4 marks)

(a) Differentiate y = xe3®. [2 marks]

()J,{'n.? product vule : 5': Uy +0v!
39
ﬂ = e
) _ 31 e
= € +3a <
= &' U+an)
(b) Hence find the exact value of  [2 marks]
2
/ (3 + 92)dx
0

=

J e®* (3 +94) dn
D

fe.“glx3x (1432)d

0
3 (e (14+32)dn

5):2 e“]:' C’U""’“PO’(‘"—@D

= 2 [q'C*E—Q:I 636

—3

—

Question 27
The function f(z)

(2 marks)

|| is transformed and the equation of the new function is of the

form y = kf(z +b) + ¢, where k, b and ¢ are constants. The graph of the new function

is shown.

‘What are the values of k, b and ¢?

Bl

Trant lalzd 4o +he wght by 3 unilx s =8
Repected -r‘nwu.?rl\ +he A—an’'S

mﬁﬁf)u\ed by 2 bz -3 and
Tranlatcd  wp bbrl wunlz = 2

14




Question 28 (4 marks)

X

Decaln walks 1600 metres due north along a road from point A to point B.

The point is due east of a hill XY, where X is the top of the hill.

The point Y is directly below point X and is on the same horizontal plane as the road.
Let the height of the hill above point Y be h metres.

From point A4, the angle of elevation to the top of the hill is 16°.

From point B, the angle of elevation to the top of the hill is 12°.

(a) Show that BY = h cot 12°. [1 mark]

B S N
BY

.-',E_‘:L = MD"D
h

o BY= hati2’

(b) Hence, find the value of h. [3 marks]
t_gfmi[,al.fua(} Ad=h ot 1L°
ULLE:\% ‘Ptd-l*haﬁora.és theovem _j—or ABAY
2
(heot12°) = (heot 16) " 41600 ™ o lbvo,

U
h”’wtmlz = W &of%lf: 'YH:D'D‘L wa 13-Lot H
L - N » = 1E,DOL
b ok 12— h ot 1= ° e goF L o
h%(f-ot’%\"—’w{'m”') = |60D whele numbd
e \bod

"'T-_-__- e
(o} 12—tot 1L

)

15



Question 29 (5 marks)

Let y = f(x) be a function defined for 0 < x < 6, with f(0) = 0.

The diagram shows the graph of the derivative of f(z), y = f/(x).

\l
0 3

a3

units.

(a) For what values of z is f(z) increasing? [1 mark]

Fo) va Jouc

The shaded region A; has area 4 square units. The shaded region A, has area 4 square

(b) What is the maximum value of f(z)? [1 mark]

,bwm Hhe Wh DA €%

oo [ 41(w) dn= 4
° 2
(#00) = 4
o) - 4lo)= 4

&l 4/(0):0 — ﬂ‘”"”
.afu):4

' The matimum  \alue B’}——Hl) ab Y-

16

Marimum Value of 42) occurs when (170 why
e aJ’-]L{Q-)




(c) Find the value of f(6). [1 mark]

No w 13{,'(1') an =4 From 2= 4 o=t +he
9 grackient i, =8
4 +hen
()| =-4 A m=-3
jttz;r Ztt]})* ok e e
BT = T
Bur (=)= & ’rm@ Wy
.i,},w.) —L[—:"br 'j,(g) ~pz —BY 2
U8 =B \ ()= — 6

(d) Draw a graph of y = f(z) for 0 <z < 6. [2 marks]

41

17



Question 30 (3 marks)

The length of a whale species is modelled using the equation

L=52—46e"k

where L is in meters and ¢ is the age in years and k is a positive constant.

(a) What is the length of the whale at birth? [1 mark]

W’ht’-r) +=10 ; l;,ﬁ"ﬂ-*l.l..éﬂo::,[_::o'{,m,

(b) If a three year old whale has a length of 4.45 metres, what is the value of k. correct

to 2 decimal places?[1 mark]

At 4-3; L= 445

~K(3) 2
b-45 = 5- 2 ~46 ©
~BR
Lt =p-T5
6#3'6: 0'75-1
4
" g: 15
~3klne = In( ‘H)

Rzt |5 ,Q___"_?:.
3 4L

K~or6o (oned
ded

=T

o
mal placa)

(c¢) Find the limiting length of the whale species. [1 mark]

@u,b +—> @ -
L=5-2 —4b e"(m v T Honteirig o

y -2m -
&

AS t 20O

L o
c\(l’

; — 4-6 5= 2
ki,

18



Question 31 (2 marks)

Let f(x) = 2% — 322 + kx + 8, where k is a constant. Find the values of k for which f(x)
is an increasing function.

»f('x.)z 1°-32" 1K1+ €

f‘tf'»)"* 32 - 61t K |

Ly ,j—{l) as an }ncﬂﬂfﬁ-;ﬁﬂ Aunchion | then 4 (’1170 .
Hence inding -the valut o k wheve 3n —ba+K 4
Pusiﬁw, |

l e Aco ond a¥O

= 1) g ) (K) <o

= 36-1>-K <0
Slak 3L

K” 3 [albofa‘-:s?’qj

2 uwrhen K?5(+[1> L an ‘lnmm;n& .zj.1mch‘oq

Question 32 (2 marks)

Find integers a and b such that

\/,gl_oza+b\/§-
| "
"f,sr:r: = atbyE \f;"+9.:a+b\[§
i, VB *= _ axbiT waaw and-
= .5 -y ;
15 (5 + Lornp osing
E.:D-: = ﬂ—’rb[g a=2 ancl b=

-6y

M —;aﬂ-'b\)%
5~ 4

19



Question 33 (4 marks)
A wire of length 28 m is to be cut into two pieces. One of the piece is to be made into
a square and the other into a circle. Let r be the radius of the circle and = meters be
the length of each side of the square. The combined perimeter is given as 27r + 4z = 28

and the combined area, A, is given by:

14-22\% _
A=rm - + z* (DO NOT prove this)

What should be the lengths of each piece so that the combined area of the circle and

the square is minimum?

i I

2> 2
s
pe h () wee

N

Cub A'—o 4o find the Clodionoty poinls

= fHm) AR =0

<5k, 4 8% 422=0
. S

_56 A8 ¥2AL =D

~28 442 tx%=D

’1:2_:_%..
rFry a}/{
\ y -
when '1—.3;%-_ _ AI;,&—*Q. >0 -»t*b(. ‘
T ! LY Lo M

Peimt -

The lenghe of Ton prlions ase

b = RIEIEN ondk  ng-—naz= 28 i 'Q._g—m
Arh o Nty
— _—
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Question 34 (3 marks)
Initially a car is at rest. The car then starts from a point P at time ¢ = 0 seconds and
comes to a stop at point . The distance x, in metres covered by the car, in t seconds

is given by x = 2 (2 — —;-) Find

(a) the time taken by it to reach Q. |2 marks]

7 - 5)
1:2{*-};_%,
3
dr - yi-t”
= slpc; the Coy ar any fime't
Wﬁ)’vru%:\f CAU?VB' d'x__U

the Car Ctops af 6 dhen 0=

/,).lf—f{’()—::O ] +=0 and +:= 4

e Coh okt 4 Cetmo 4o veath 4.

(b) the distance between P and Q.

.-}-;0 '}:L}'
e S —— il
P &
A 228
o= BT & D
2




Question 35 (5 marks)
The diagram shows the curve with equation y = #* — 7z + 10. The curve intersects the

r—axis at points A and B. The point C' on the curve has the same y—coordinate as the

y—intercept of the curve.

\ i o
(] T — 1 g t1 ! I )
/!

i

A »
// — ?11”?2+!D

T

! -

a
€3 L3\ Ao |
I

S ;,f
Y i r

AN /B D X
)N\ &0 C1,0)

(a) Find the z—coordinates of Points A and B. [1 mark]

x - 1A+ 1D=D
@#1) (x-5)=10
n=2 and §
e 2-oordinata et psint(, Aand B oo
2 and §

(b) Write down the coordinates of C. [1 mark]

L{f}n‘ruu,pl:' [31, '1&',—{11.10 Jt |0
Cub Y=o In y=2"- Tatio
0= X =TA+I0
b= a—Ta
w(x-T1)=0
ieu and =T

1k U708
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(c¢) Evalute [1 mark]

2
] (z% — Tz + 10)dx
0

P T
(’L"T'I’t'l[))dl: [._1--: ___1;- +|Dlj0
0 2 >
;{f., =13 +\D(;).] ~ (o)
ot oL
9
= Q"é’

(d) Hence, or otherwise, find the area of the shaded region. [2 marks]

Aven = Avea 6f Ascp= j@ffr'x_#m) i
0

(-‘,ixb’xm> — 75 (fcem Fm—@)

Aca - |LT‘3' é&un.JZ

W
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Question 36 (5 marks)

(a) A simple musical instrument has many strings. The difference between the lengths
of adjacent strings is constant, so that the lengths of the strings are the terms of an
arithmetics series. The shortest string is 30 cm long and the longest string is 48 em.
The sum of the lengths of all the strings is 1209 cm.

i. Find the number of strings.[2 marks]

a=30; L=48% ; Sp=1209 n=24¢
50:%@4(0 1%

-0 (Bo+4€) n= 3|
1204 = O ( ——
AB1€ = 78n (Qrm‘n?z:

ii. Find the difference in length between adjacent strings. [1 mark]

Tn= a+(n-1) d
4% = 3o+t (31-1)d

20d= | @
d= 3. .
5

(b) There is a large sheet of paper which is 0.1 mm thick that is cut in half. Then one
piece is placed on top of the other. This pile is again cut in half and one pile is
placed on top of the other. This process is repeated 40 times. How high is the pile

of the sheets? [2 marks]

The —hicKnens of the Ppiles in dhe 4o Succem ve
i fom a g-p
D2 Pty O B =

—_— 3
‘L*o: DQ__%J__

1% o
S The —%m:d JI;>"|\P- a,Ht'ﬂ Lo Succenive Lolda 1S
) %10 oy 110, 000 km hich -

j Wwheve azo-2 Un m'“)
Y= 2
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Question 37 (4 marks)
(a) The function f(z) = sin z is transformed to g(z) = 3sin 2z.

Describe in words how both the amplitude and period change in this transformation

[2 marks]

Ampliticle s llip Uied b:p and Fhe
petiocd halved

(b) Sketch -51—49 clearly showing asymptotes and intercepts. [2 marks]
x -—
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Question 38 (6 marks)

(a) Use trapeziodal rule with three function values to find an approximation to

3
/ Inzdzx
1

[3 marks]

s B

3

ijL g = .gl‘ (o +/n$+)fn’>)
, (In3+h4)

ln

12-

R

I

2
= 3
2~

o The atele u ajop@u'ma!e/%{ -—ilm'ﬂ LR unk

(b) State whether the approximation found in the previous part is greater than or lesser

than exact value of 113 In x dz. Justify your answer by sketching the curve y = inx

[3 marks] 3_

The & haded Yegisn 6n the deagram icthe area

W UAU\.«{? +he Tﬁbf)f-g'ﬁdﬂ/' vule 3
LT o e Hhan Hhe enack value ¢ [tanda

!

End of exam
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